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NO calculator: Use your maths exercise book or paper to show all your workings out
1. Clementine’s fish eat 7 grams of fish food flakes each day.
She is going away for 18 days and wants to leave enough fish food flakes.
She has 150 grams of fish food flakes.
Does Clementine have enough fish food flakes for the holiday.

2. Omar buys 8 fence posts costing £4.35 each.
He pays with two £20 notes.

Work out the change Omar receives.

3. A school has a driveway 80 metres long.
The school hires 5 coaches for a day trip.
Each coach is 13 metres long.
Only the 5 coaches park on the driveway.
There is no space between the coaches when they park lengthwise on the drive.

What length of the driveway left after all 5 coaches have parked?

4. A developer wants to build 34 terraced houses at the back of a park.
The park is 200 metres wide.
Each house will be 6 metres wide.

Does the developer have enough space to build the houses?
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